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SECTION -A

L - : .

A solution reacts with crushed egg-shells to give a gas that turns lime water
milky. The solution contains : l
&mmaﬁgﬁﬁmﬂam@mﬁmﬁaﬁw@@wﬁw | (TRCBI
PSR it FE | HACHIS AT —
aﬁﬂémw%mawmmﬁmmmﬁwm@wﬁm | SITsIfe
PG (Il @ | 5fbS e
(a) NaC/

(by HC/
(c) LiC/
(d)y KC/
2.

Which of the following metals can replace copper from a solution of copper
sulphate ? 1

Wmﬂmmrgwafmmmwaﬂwwwﬁﬁﬁwm-

ﬁm@ﬂmvgﬁavwmmcwmmumﬁwmm

(a) Silver
feerore
a1

(by Gold
=G
G141

(c) Zinc
R
fona

(d) Mercury
TRIFSH

*A1am
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lod

A molecule of propane has
4" (473 B1] 1O
HU17 99 93T I

(@) 10 covalent bonds

10 SRS IR A
10 o SEere o U

(b) 9 covalent bonds

0 STRLUTSY IR A
O e @ e

(c) 8 covalent bonds

8 SOOI IR U
8 o smursht 7 U

(d) 11 covalent bonds

|l S2UrS) IEN U
1 6 sarureh w5 U

4. Choose the metalloid from amongst the following elements :

GG il (IETteR “141 ergamst @i Sfvont 799
AE cront CRETOE! (I €T @R To

(a) Sodium
gfeum
sty

(b)  Aluminium
SRty
Qegfary
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(€)  Chlorine
EED
cifa

(d) Boron
39

Q<

5. Choose the correct answer :

8% Saqre! Ife Sfeaal :
a% oudd @8 1S :

The unit of specific resistance of a material in S.1. system is

4B “Wief] REIOR A5 TR TS

a3 med RYR @IUTET AR, 9T

(a) Q

(hy Qm
(¢) Qm!
(dy Qm?

6. Choose the correct answer :

a5 Suqce! alfz Sfenaat :
a% Sadib (@7 1\ :

The magnetic field inside a long solenoid carrying current is

Wﬁﬂﬂs'ﬁﬂwmﬁ@mmﬁm
sy 3 A SEROeT fGow orFd ova

(a) Increases as we move towards its end.

U 197 T S Al T

%7 #1@a e F01 @IS U |
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(b) Decreases as we move towards its end.
B 284 B &0 9 UIY |

af6d SEd e For o1 T |

(c) Zero
X]9T 20 |

=T =2 |

(d) Itis same at all points.
s [ A U |

54 e 93E U |

7. Emulsification of fat molecule is carned out by

5l Q@ ENTEAsd saibe IE
e B[ (Emulsification) suft® =4

(a) Trypsin
foeifors

Trypsin 9 914l

(b) Pepsin
co1sifetd

Pepsin 9 7141

(c) Bilesalts
fore =rane

Bile salts (f@ &) ara

(d) Amylase
QBTG

Amylase =Idl
B15-GSc (New) (EN/AS/BN) 5

Contd.




The plant hormone w hich stimulates cell division 1s
@ fawreme SR qrmm gar Sfwa s@led «we ©a
Sf¥tia cu w@e w1l o faw
(a)  Auxin
wfaa
N

(b)y Cytokinin
bIE Efas

siRrrerEfaa

(¢) Abscisic acid

aziEfie afts
agsinfie afss

(d) Gibberelin
foanafeam

forarafers
Downloaded from JobAssam.in

9 Which of the following is not a biodegradable waste ? 1

@ed @1ar! One Al wedar aum 0

Trva canm g &g fAfE@ad (hiodegradable) &1 7

(a) Vegetable waste from the kitchen

oAfaqd & Aferd WG
a1 GEd F A WA

B15-GSc (New) (EN/AS/BN) n



(b)  Old and torn clothes
BEE R E
AR BT I

(c)  Plastic packets
IECT Herct
A% smnreb

(d) Old newspapers
3 ol I

AR WREE TG

10. A piece of wire of resistance 2 Q is cut into four equal parts. These parts are then

connected in parallel. If R denotes the equivalent resistance of the parallel
combination, then2 Q : R is 1

2 Q @144 O 9T BB SN WIS Gl Fql T | 3= 61fIBT SIS SeEre
SOl ] Z'E | TG eI TG @14 R @ O 2 Q : R =1

znmammmﬁﬂwwm@ﬁwmammnﬂﬁm@mﬁ
STEGIT SROTS 91 2T | FAGAE TEGbd THGT @4 R 2 2 Q - R 2@

(a) 16
|
(b) 1
|
(c) g

(d) 8

B15-GSc (New) (EN/AS/BN) 7 Contd.



SECTION - B

I. (@) An object is situated at the centre of curvature of a concave mirror. Draw
ray diagram showing the formation of image. I

amwmm@mwﬁmc%?&cglﬁﬁﬂm
HfSRrgq o7 oryaat |

aﬁwwﬂwmaﬁmmmnmm
sAfsfaafba o9 crang |

(b) An object is placed at a distance of 10 cm infornt of a convex mirror. The
image is formed at 5 cm behind the mirror. Find the focal length of the
convex mirror. 2

BT A 99 SO 10 e, ATS T I 51 I CY | AT fegarc
5 cafi. e o o e | Sue RIAAE T TE oy Sfenadt |

4R Sae Fofa STLY 10 G R0y 93fb ST Tl 2R | wofeifba fPreaface
5 o7y e ol oS zure | So we(iBa cErrs-tadT e Ft |

12. A convex lens of focal length 30 cm produces a real image 3 times magnified.
Find the object distance. 3

30 czfil. TINE @99 947 BT TR 3 o it s fSfTa 107 I@ | W TS
o Ry

3omﬁmﬂmmﬁ%mﬂmammﬁmﬁ%ﬁﬁm$@ |
AWIRYHT A (T9) Refy a1 |

Or/ATRat/SY4t
An object of size | ¢cm is placed at a distance of 15 ¢cm infront of a convex lens
of focal length 10 cm. Find the nature, size and the location of the image.

1 caff, WIITGE T T 961, 10 @i, T T ST GTE QU SRS 15 (B,
@Yo 1 (R | sffrq 9gfe, TR e SwEA w34t |

1mﬁmaﬁm1omﬁWMaaﬁ@wmmwm
P AT TR | sifsfaeaa 4o, W AR SEA ey |
B15-GSc (New) (EN/AS/BN) 8 |




3. () What are the far point and near point of the human eye with normal vision ? |
Hutias 423 wrE gome aiE 14 g we fab fasy 0

NG5 9 S gaom @ gy aee fa faq & a2

(h) Why do we see rainbow after a rain shower ” 1

Y14 “eS wnfy 3eneq o et 0

Rt “fea @ 2 @ i 9

() A person needs a lens of power + 1.5 D for correction of his vision — 3
A At qfes feeraa ofsaa fEsnst + 1.5 D wwoR @We aaee sReET
[cla 3

TG @A iz [ «fere s + 1.5 D wWor Eese Smres o |

(1)  What kind of defect he is suffering from ?

@4 423 fa faeree e ¢
fofa & «znrz o2 Gena g 2

(i1)  What is the focal length of the corrective lens ?

AR eI T g i e 2

AR @Eida cprarsi o o 9

(ii1) What is the nature of the corrective lens ?

S TTeq 430 fo ¢
AR Er=iva 49 & 2

B15-GSc (New) (EN/AS/BN) 9 ' Cond.



= _(_R:j,l)Qand
14, In the circuit given below four resistors Ry = 760 Ry = 18 By

the circuit (ii) the current in the circuit.

=5 Q61 12
WmﬁmmWRl=7Q_Rz=mQ.RB:g,()Q. R, 5 Q) H¢

V OIS STROuie et 0T | ISNEH (i) [P @Y € (ii)r{bﬁwﬁmﬁﬁmww
A |

Fer I R, =7 Q. R, =10, R3=30Q.R4=59335131%@1waa: 3o
12 V i SRours 331 e | ISAB (i) T W AR (i) o5 R starced Sifet

fRefy Tt |
R,
AAA
YYYYY
RJ
R,
Rl
AMMAAARA + |||=_—
YYY | 12 Volt
Or/ATRr/syat

Show how you would connect three resistors, each of resistance 6 €2, so that the
combination has a resistance of

(i) 9 Qand (ii) 2Q

M6Qmﬁﬁﬁmmmmmﬁaﬁmmm@¢
()9 Qe (ii)2QTI?

ﬂﬁﬁéﬂ@«%ﬂﬁ@%@@@ﬂ:@ﬂwmm@q
()9 QAR (i) 2QFR !

B15-GSc (New) (EN/AS/BN) 10
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I5. Distinguish between electric generator and electric motor. Explain the

. o 4 e . , P > .a
functions of (i) the brush ring in electric generator and (ii) slip rings in electric
motor.  +1+ =3

W OB W wpfos wbea wrow wier et ¢ (i) WRew (SR
an f wre (ii) @Pfes Thaw e fRe-g (slip rings) I & 2

QPIST OIEBR 9T wfos Wowa e B B 2 (i) QST CGAIEEE brush
ring (@1 R) Q@ (i) Wyfow W5e slip rings (et f) 97 AR A4 IR |

Or/ATR31/ZNt

Explain the phenomenon of electromagnetic induction with an experiment.

ﬁma‘b‘mm@ﬁmﬁﬁumwﬁmqv@ﬁml
435 AT SR RYR pein SR e e 3@t |

16. What will be the work done in moving 2 C charge through a potential difference
of 12 volt ? 1

12 vﬁwwﬁrﬁﬁzmmzcmmﬁmﬁamﬁmﬁwwwﬂa?
12V Re3 coma 9f6 R swwer farw 2 € wnera bifers aace ® stfiie a1¢ T4t = 9

I7. Problems associated with construction of big dams are (select the correct answer
from the answer given below) 1

IR TG [T 0 Tfes 2 I3 SR PR T (oo fint oF Seacy! A
Sferaat)

IR FAY AT S0 Gfes st SR 21 (Fsa oF Sl @rw Ana)
(i) large areas of agricultural land are lost

IR AT =157 A @EQIETNT 27 |

IR ARSEE “CFG WANS 2 |
B15-GSc (New) (EN/AS/BN) , 1 _ Conrd.



i ® eCo s
(1) large eco systems are destroyed

IR AfRfoos @R =y |
IR Afafefowa fave = |

(111) neither (i) nor (ii)
(i) 9 (ii) QB A=Y |
(i) @32 (ii) 93 @HBIR AW |
(iv) both (i) and (ii)

(i) T (i) FONMB1 |
(i) 9 (ii) 9% SOOR =W |

Downloaded from JobAssam.in

18. What is ozone layer and how it is getting depleted ?
o' o9 5 AE W @t Sw e ?

ST (0zone) T A A 7 Wy IO Y6LE ?
Or /A<yt

What is Ecosystem and what are its components ?

ﬂﬁﬁ%w%wm@mﬁw&?
qﬁﬁ%w@amamswcwaa?

Wc short notes on any two of the following :

worq fi GG o1 BT ferat |
Wmmiﬁa@ﬁamﬁﬁmm@n:

(a) Sustainable management
AW @l
Ty AT
B15-GSc (New) (EN/AS/BN) 12
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(b)  Water harvesting

A1 S

B Hayq

(c) Dams

BEIGIET
A J1g

20. Distinguish between fossil fuel and solar energy as direct source of energy. 2

e FoTF oS 21t SRrrors ta o oie At germt 341 |
e SOTF B RN SRMSIS 2 43t Cleed o 3 |

\}/ Write short note on any one of the following : :
oot U (I 4B BB fevat |

@ @ 93BT Sog NfFd oo et -

(i) Hydro Power Plant
T AW

TEfE A

(ii) Solar Cooker
5 FIR
CSIEATd JIR

22, Why are decomposition reactions called the opposite of combination reactions ?

Write equations for these reactions. 3

mmmmﬁmﬁﬁmmwmummmq

ferat
ﬁmﬁmmmmﬁ&mﬁﬁemmm?ﬁﬁ&mmmﬁ

—

() I

. B15-GSc (New) (EN/AS/BN) 13 Contd,




23. Take2 g of silver chloride in a China dish and place itin sun-light:
AN BRI YT ngiﬁ?i@ms*'zﬂi@ @il @ Burd e i el
93 B U 2 ¢ o @riEs Ao ad afbce spffeart e |
(@)  What is the colour of silver chloride after some time 4
frg sy Fres feerere 7 3%se 3¢ @ 240 2
frg s i FreTer Grritced g I 23 7

(b) What type of reaction takes place ?
fr soree fifem o =3 2

F g3z (e seefho =@ ?

(c) Write the chemical reaction for the above observation.

OoTq LT IS R[RiFus! e |
e AdEwng asnfie Rl e |
Or/AT23/sd

Translate the following statements into chemical equations and balance them :

OFq SR AR SRR 910 forat Wi sigers |
s SFoEE AT TP TA G AR FFod I |

(a) Barium chloride reacts with aluminium sulphate to give aluminium
chloride and a precipitate of barium sulphate.

cfmm F3R@ g eEwhd de R e aafifum ek
Beom xW Wie QRUN TS SYfEg = |

@ﬁmwﬁ@aqﬁﬁmmﬁmﬁaﬂmﬁmmmaqﬁﬁmqm
Best xy a3 QRN SEeed oyfiEe =y |

B15-GSc (New) (EN/AS/BN) 14



b) Zincre : :
{ reacts with copy phate and metallic copper.

form o919 wareng
TE |

T, IR ATTEEY
IR |

003 BNE €Ted I SRR

SIETCED A3 4T 3 BN

(c) Hydrogen sulphide buss in air to give watefand sulphur dioxide.

GIRSHRS S 2 |
TRGLEH SETEIRG YOS 7% 2 Tl 932 ST SR-WHRG JAF I |

" Downloaded from JobAssam.in

24. Whatis pH ?

You are given two solutions A and B. The pH of solution A is 6 and pH of the
solution B is 8. Which solution has more hydrogen ion concentration ? Which of
these solutions is acidic and which one is basic 7 3

pH 3¢ QIT=T ?

O A e B 16 5wt 2 | A BQCO pH ¥ TH 6 W% B-5A6E pH-T W17 8 |
wﬁ@rmm‘mwmaﬁi?mmmﬁwwmwﬁuﬁ?

pH @ ?
miﬁﬁaAa«Bmmm | A %4 pH 99 919 6 3R B-53f67 pH a3 W
8 |mmmmm@ﬁ?ammﬁmmmﬁm
g ?

Or/AtRAN/=Yn

What is Plaster of Paris 2 How is it prepared ? Give one important use.

m:mmﬁwﬁsvm@mﬂﬁaqmwm?mmewﬁma%mn

mmmafaﬁawmwm?amamawﬁmﬁm ;

' Contd
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25. Anp: -

Mﬂdlc table has been shown below :
~Group -
. i LI XVI| XV | XV

PerlUd L \\‘\H

B

2 B| D C
= 3 E

On the basis of the above table answer the following questions :
(1) Which element will form cation ?

(1)  Which element will have smallest atomic size ?

(ili) Which element will have chemical properties similar to Magnesium
(atomic number 12) ?

FYTqT SIfeTdIe Qb1 TR TGO Y9! T

3f—
swifhe L 1| I | XVI | XVIH | XVII
2 B D ¢
3 E

\@99Y oI oo fofe 3T Tae AamRe S fera

(i) B! CTER @BMA 169 N ?

(i) CIACE CNeT ARNAIT WA ABIESE I 2 |

(iii) CITAE! CRET IASIAF ¢ RNATRNING (HRNARS S247 12) TS Q0@ 4399 ?
Hf1qT ©iferard 3B TR 6 AT T

f -
11 1] XVI| XVI | XVII
oy
2 B D g
3 E

BoiEg ofEarE o fof I AT FABET TI TH

(i) @R CI=(B BN T I ?

(i) @ oNefa RN S SO I 7

(iii) @R Citea ASEHe of MEAERTIE (RTHRE s2am 12) St 99 wamg ©

Or/AtRar/sat
B15-GSc (New) (EN/AS/BN) 16



26.

Tt op 1
Nitrogen (atomic Numbey 7)

group 15 of the Periodic 1a, and Phosphorus (atomic number I5) belong to
' labl : . : .
elements. Whijc|, of these eley, €. Write the electronic configuration of the two
. ]

ents w
GV (M5 «

1l be more electronegative and why ?

SN D) AE vewany (trwifie st 15) *1iqs fEarg a5

150 UMF | 9%
mﬁai@%ﬁﬂﬁ%m | ¥x09 @INCE1 o @fe RyRaerers
e [y 9

(a) Why is sodium kept immersed in kerosene oil ?
s‘ﬁsmﬂmq%nwaﬁhmamw'm?
STeU €19 @7 @I ot wiee arr =y 9

(b) Write equations for the reactions of
oo RiFnRies asmfie sfieed frar
Tewa Rifew oER sy Sfleat e :

(1) Iron with steam

TI® Gy IPHAT 910 WIS [fmar
Ta® Gy I Sov e fafa

(i1) Calcium with water

A =ro @erene [Rfwa

(c) Explain corrosion with an example. "

BT T O FAGIT I I

3% Tzt STECUIY WG I I |
Or/ATRan/sryat

7 f
B15.GSc (New) (EN/AS/BN) 1 Conrd.

e —



a J . o T Te
(@) Youare givena hammer, a battery. wires and a switch.

Wﬁmﬂ@.m@m,mﬂﬁaawﬂﬁsmfa |

O 9o 7o, oo v, av o aa 93 T A i |

: I , ’ .5 of metals
(1) How could you use them to distinguish between samples

1
and non-metals ?

diwmaﬁwwmmmm?

% TYOE IR TR 4G AR TG FO SIS I ?

(ii) Assess the usefulness of these tests in distinguishing between metals

and non-metals.

mwmmwﬁm@mﬁ‘wmmT |

1

Wammwwﬁﬁmam@©wﬁﬁtmﬁw |

(b) Give reasons :
19 "?C‘fTaT :
I Y13 -
(i)  Platinum, gold and silver are used to make jewellery. 1
szl CouTe It b, o'=s e feeTore IR F9t =W |

TR tofd FAe B, GAT 932§ 9T I 7Y |

(i) Aluminium is a highly reactive metal. yet it is used to make utensils
for cooking. I

aeffom TR SfEy oy oUW IES @I IR aST Cour

asffvam W STEN € RoN S99 A @ I Jawra @ A
ToUR Ao IR 391 W |

B15-GSc (New) (EN/AS/BN) 18



(1) How ¢

an you get compound ‘A" back from *‘B"”?

"B QOB 141 A" @G e ot @R AR i ?

'B” Al s A" b & @I A ool U ?

(iv) Name the process and write the chemical equation for the conversion of °B

(a)

(b)

o A",
‘B* QB "A° Glsitel @l Seliaq AfFUER AN Ale 2R A TS
G

B alefw A’ Al Feed s dfeufea A aR seofE e
SIFEA @t |

Or/ANRat/zY3t

Why is the conversion of ethanol to ethanoic acid an oxidation reaction ?

Write the reaction.

ST 2R e Aot SMree 3! fFu 9ot e fafwur @ fafwaner fen o
S RS AT Fed 3l @7 93 s Rfww ¢ ffen et |

How would you distinguish experimentally between an alcohol and a

carboxylic acid ?

S SRS e T A I e afess MR e fan ey oS

oS5 ST OFT%E A3 IR AfSFed 41T I S CRITeT! T 2

B15-GSc (New) (EN/AS/BN) 20
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(€) A mixture of O\yp

“hand ethyne is burnt for welding. Why a nmuxture of

L‘lh}'lll.‘ and ar s NOt used 2

a1 i s (Welding) wfiirem @ Budae fimq 52 @@ =0 |
BT oy

a@ﬁmw%uammwm?

TR (BTG AONR (welding) sy S a3 WRET e 729 9 20

BN IR I B o 1 war g A o

28. Write the name of two types of nerve processes. 1

R 4979 WY AT A fery |
48 44 N1 *wmhed M @& |
Or/RTEJN/ITAIA

Give an example of chemotropism in plant.

Sfavo cow BfiferTe b1 et fu |

Sfete EHfeTE 43 AT 3 |

i ] 1 31 Z S. 2
2 /D longitudinal section of a Nower and label the different parts
./"Draw a longi al s

mamwfﬁz@ﬁﬁ@ﬁm"wmw'

fifor o= STE fofee @t |

S
e Beuen RCTd o TE " Cond,

BI5.Gsc (New) (EN*’-\S”BN)



30,

3.

32,

How fiuit is formed in flowering plant

HPIE S @EE T 72 2 2

ST B (e e e e =W ?
Qr/RTRNITYA

What are the different contraceptive methods ?

Rfon 37q TSRS 5o 6 7
Rfer ¢amg EAEES TEo J I ?

What is synapse ? How nerve impulse passes across synapse i

mw%?s@mmmmnmﬁmm?
Moaa?mqma@@mmvﬁamwﬁmm?
Or/AT3a/zYt

How Mimosa plant responses to stimulus ?

RS T @E Gaare oS S S 7
RroarsTt 5% Srot SR« sl 7 2

How sex is determined in man 7 Explain with necessary diagram.

mﬁww@aﬁﬁﬁ@m?m@mwmmaml
mﬁwa@mﬁmﬁam?M&wmwm|
Or/ATR3N/ILA

How do the traits get expressed in plants and animals ?

@ﬁwmmﬁmmmﬁﬁmhﬁmﬁmm?
M@ﬁwaamﬁamﬁmuﬁﬁmﬁmt

GSe (New) (EN/AS/BN) 2
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33. Describe the di

fferent proces Vi
Processes of release of energy from glucose in living

organisms. W)

mﬁ‘mwﬁ%%ﬁf@ﬂﬁ%aﬂm@ml

@mmcwﬁwwﬁaﬁ%nmawaﬁtm

Or/aray/sraar

How transport of wate

TfETo @S AT,

ccur in plant ?

JIOR T, YMT 932 B
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